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®  Problem-7 on page 46-47, Chapfei-s

D [t M=h bea Lic(]rou,b with a bi- invaxant mete -
Show hot EXp : T,lﬁ: — coincides with
49 - Lie olyebra of @
the exponenho) map in Lie theowy -
} 6= GLIR , Tn TRl = M(ny1R)

2 2 A
prp (A) = T+ A+ B -

Ace M(n;IR) )

® Poblem -5, 7 on poge 5%, thapfev-2.

® Lt f: AcRR——M b2 borame boied Swrfoce” and

leb (8:t) be Yhe wiual eo-pvdinates olez- Let V= Vst
be a vechy held along £ - Fox each (44) ® Show that (skipit)

DDy-DDy-R[E }1d will be
3t )SV ﬁ_s-{:_v R(DS ’Jf)v (dfﬁ,uurdm)
las

(5) Problem- 3, on baﬁf-@o, chubfua- .

(6) Droblem- 1, 8,910 on poat - 106- 108 ,ChapTts - 4

This amgmmﬁr will be ducumed W the Cclam, 40 bt/
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